52:»%21 Cou

3 > o FIRST TERM EXAMINATION-2015-2016

¢
S5/100 ‘. Maths-XlI

%\Q Class-XII
Subject-Mathematics
Time : 3 Hrs. M.M. : 100
’ '
A # >
Attempt all questions. Ca Tl o
Do neat work. Cia \
Section A ( 1 mark each) \ b O '5\
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Y Find adjoint of the matrix L5 6 ‘ \ '
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What is the integrating factor for the differentiate equation (x logx) (—1—% +y=2logx
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4" Write the mdu‘ of the differentiate Lquauun
y=px+ \,";2_[,2 1: 53 wherep=dy/dx
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B Solve sin " sin \3 )
- If xy = ¢* find dy / dx E
Section B
-~ Z | \1 - \.\
. Evaluats J e - 1] da. : R ok
] i ‘l A
8. To promote yoga an organization tried to generate awareness through (i) sms (i1)
letters (iii) announcement. The cost for each made per attempt is (i) Rs 6 (i1) Rs 30
(iii) Rs 40. The number of attempts made in three Localitions A, B and C are as
given below :
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A 400 100 200
B 300 150 300
Cc 500 200 100 S¥3 . gx) a %\

Find cost incurred by the organisation for three Localities seperately, using matrices.
Write two lines about benefit of yoga. @ssd  onon Ord

(1-x) 1
Solveforx,tan ' | ~|==tan'x, x>0
\1+x 2
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Differentiate sin“x with respect to e“**
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\)/I./If'_y=kx+ 2—1| prove that 7\ \
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valuate \[7 . | : ",-\'xm‘\ XY
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e*dx Z . e
Evaluate I\/ ‘""'"';-“ Y :

T [ Beosx - 4sinx)
Write simplest from cos ' | ==
. J

Find the intervals in which function

[(x)=2x" - 16 x% + 36 x + 1 is strictly increasing or decreasing. Also find the points
at which the torgents are parallel to x axis.

Find the area of the region enclosed by the parabolax? =y, y =x + 2 and ¥ axis.

Solve differentiate equation. k ﬁ) ;_- ,» A
e*tan y dx + (1 -¢*)sec’ y dy = 0. 2l 'J o
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Using differentials, find the approximatc value of (49.5); _. _.L;"'I' "
y 2 : i 20
- \ ~ \ — \‘)” s
S




S5/100 - Maths--XI|
Section C (6 marks cach)
Jﬂ./ Solve differential equation,
[ x sin® (y/x)-yldx+xdy=0ifx=1,y= /4

Z.L/U’smg the method of intergration, {ind the arca of umntrlp ABC, coordination of
whose vertices are A(2,0), B(4,5), C (6,3).

“

1 : : : A
\VEVQIUEW j (x? + 1 + ¢2%) dx as a limit of a2 sum, = A o=
0 ]
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\/23./_Ising the proportion of determinant, prove the following ; _
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a he ac + ¢= _ 2 Q‘ﬁ,_)t.
atvab b ac | =4a’h*c* :
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24~ Show thal a ¢ylinder of a given volume which is open at the top has minimum total

surface arca when its height is cqual to the radius os its base. S

P - ; dz , !
\_/26./ Ifx =acos g +bsin g Find WI. ; :
dx =

y=asin g —bcos ¢

A L d%y &
and show that y* —5 —x "~ +y=0
dx* x
.\)6./10 students were selected from a school on the basis of values for giving awards and

were divided in to three groups. The first group comprises hand workers, The second
has honest and low abiding students and third group. contains vigilant are obedient
students. Double the number of students of the first group added to the number in
the second group gives 13. While the combined strength ()(;i;lg,ikand second group is
four times that of third group. Apart from the valuces. hard work, huncsL% and respect
for low, vigilance and obedience, suggest one more value. which in your opinion, the

school consider for awards.
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